

#1.4.9 (a) $A \sim B \Rightarrow \exists f: A \rightarrow B$ is 1-1 and onto

$\forall x \in B, \exists y \in A, \text{ s.t. } x = f(y)$ (since f is onto)

define $f^{-1}(x) = y$ (since f is 1-1)

$\Rightarrow f^{-1}: B \rightarrow A$ is 1-1 and onto $\Rightarrow B \sim A$.

(b) $A \sim B \Rightarrow \exists f: A \rightarrow B$ is 1-1 and onto

$B \sim C \Rightarrow \exists g: B \rightarrow C$ is 1-1 and onto

Define $h: A \rightarrow C$ by $h(x) = g(f(x)) \forall x \in A$.

For $x_1, x_2 \in A$ and $x_1 \neq x_2$, $f(x_1) \neq f(x_2)$ (f is 1-1)

and $g(f(x_1)) \neq g(f(x_2))$ (g is 1-1) $\Rightarrow h(x_1) \neq h(x_2)$

$\Rightarrow h(x)$ is 1-1.

$\forall y \in C, g$ is onto $\Rightarrow \exists z \in B$ s.t. $y = g(z)$

for this $z \in B, f$ is onto $\Rightarrow \exists x \in A$ s.t. $z = f(x)$

$\Rightarrow y = g(f(x)) = h(x) \Rightarrow h$ is onto.